Vadfoder/ Liquid feeding/ Fliissigfiuitterung/
Alimentation en soupe/)Xuakoe kopmaenue/ Alimentacion liquida

Ne 0139-749

DK/EN/DE/FR/RU/ES

Tekniske specifikationer/ Technical specifications/ Technische Spezifikationen/

Sésifications techniques/ TexHnueckue xapakrepuctuku/ Especificaciones técnicas

Ventil/ Valve/ Ventil/ Soupape/ BeHtuab/ Valvula 1 1/2” AISI 304

Lufttryk/ Air pressure/ Luftdruck/Pression d'air/ AaBaeHue Bo3ayxa/ Presion del aire max. 8 bar.

El-tilslutning/ Electric connection/ Elektr.Anschluss/ Connexion électr./ dnekTp.coepeHeHune/ Conexion eléctrica 24VDC, 6W

Vandtryk/ Water pressure/ Wasserdruck/ Pression d’eau/ AasaeHue Boabl/ Presion del agua max. 10 bar

M-3009 EE

1/2
ACO FUNKI A/S - Kirkeveenget 5 - DK-7400 Herning - Tel. +45 97 11 96 00 - Fax. +45 97 11 96 77 - www.acofunki.com |[FUNKI|




Vadfoder/ Liquid feeding/ Fliissigfutterung/
Alimentation en soupe/)Xuakoe kopmaenue/ Alimentacion liquida

Ne 0139-749

TO000T6C N

CTTO06€ET N

EN
Item Ne QTY. Part Ne Description Item N2 QTY. Part Ne Description

1 1 0320-040 Solenoid Valve 24VDC For 1/4 -1/8 9 2 35600058 Nut Washer @8X8,4/24/2 A2 DIN9021
2 1 23900067 PVC Tee @63 mm 10 2 39900120 | Wall Plug 10X50 mm
3 2 0138-653 PVC Tube @63 X 80 11 2 34908061 | Couch Screw M8X60 A2 DIN 571
4 1 23900104 PVC Union @63 mm 12 1 0139-578 Distance Fittings
5 1 0139-478 Transparent PVC @63 X 200 mm 13 1 0146-119 Pipe Holder F/2',060+063 Pipe
6 1 23900097 PVC Threaded Nippel @63 mm x 1 1/2’ 14 2 30306020 | Set Screw M6X20 A2 DIN 933
7 1 12100099 Non-return Valve 1 1/2’ 15 2 33506011 | Collar Head Nut M6 A2 DIN 6923
8 1 23900298 PVC Heagon Nipple NIF 1 1/2’ 16 1 12100093 Brass Ballvalve 1 1/2’ Incl. Actuator, only for water

M-3009 gg

2/2
ACO FUNKI A/S - Kirkevaenget 5 - DK-7400 Herning - Tel. +45 97 11 96 00 - Fax. +45 97 11 96 77 - www.acofunki.com |[FUNKI]




